Time : 3 Hours

V Semester B.Com. Degree Examination, March/April - 2023
COMMERCE
Costing Methods
(CBCS Scheme Repeaters)

Maximum Marks : 70

Instructions to Candidates:

Answers should be written completely either in English or in Kannada

SECTION - A
ot - o
Answer any FIVE of the following. Each question carries 2 marks.  (5x2=10)
1. @) Whatis Job Costing?
20§ Sy, Doz, S0TdeH?
b)  What is meant by work uncertified?
FReORNS SeRc e 0.
) What is retention money?
o @ Soddab?
&) What is Batch Costing? .
503 g, STkt
) Give the meaning of operating costing.
mobryE egrTy Ao,
) Give the meaning of National profit.
som T eEra n.
©  What do you mean by Economic Baich Quantity (EBQ)?
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SECTION - B

o - ®
Answer any THREE questions. Each question carries 6 marks, (3x6=15
Briefly explain the importance of contract costing.
o3 $% Brerod TR Io DTOK.

A Transport Company runs 4 buses between two cities which are 60 kms apart, th
seating capacity of each bus is 60 passengers. The actual capacity carrics is 80°
Each bus makes 4 round trips per day on the onward journey. The buses run to fal
capacity and on retum tip run 20% empty. Calculate the kilometers and (o(:
passengers kllumelqs for a month assuming that no bus is off the road due (o repairs
and mainter

.05 TR0 ARG 60 8.20¢. $03FIDT S0 mrm ey, Ty LRIV LARIS.

B3 LT ST MEGF 60 TR, TOIITN ek N,sx:‘r “80% z2

% O mey B (rips) FARALIE, T, amaq LRI Tpeor TR
roE, % bouTS BT, 20% RO LoFE, cnd Ry, Fetnes

RO, RYELING, SO Nk, A SR

SREEETTIVRY Sod> BBCD.

The following costs were incurred on Job No 501 material Rs.9,014
Wages

Department *A 60 hours at Rs.30 per hour

Department ‘B’ 40 hours at Rs.20 per hour

Department *C’ 20 hours at Rs.50 per hour

Variable overheads

Department *A’ Rs.12 per hour

Department ‘B’ Rs.20 per hour

Department C’ Rs.30 per hour

Fixed overheads estimated at Rs 40,000

for 2,000 hours. ind out
cost of Job No.501 and the price to o e gl S

give profit of 25% on selling price.
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2 oAz 501 O Sy, & dvtortod IMOWIS,
BN Do, 9,014

w00:

ot '’ 60 oMb 3 riokdt de. 30

SRR ' 40 HOMIND T3 Mo de. 20
SRR N 20 rodined B2 rowid de. 50
WO Soeed dripic:

2t ' B o da. 12

R I3 oA e, 20 worte
2 4 B3 ol de. 30

48 Bores (1, eWltond) da. 40,000, 2000 ModneR SROIRE BEbY 29E 25
TR B0 SR Sy, Ho> LD,

Manju Company owns a bus which runs between Bangalore and Shimoga for 10 days
in a month. The distance from Bangalore to Shimoga is 300 kms. It makes oné round

trip per day. The bus goes another 10 days in a month towards Hassan. The distance
from Bangalore to Hassan is 200 kms. The tip is also completed in the same day

For rest of 4 days of its operation in a month it runs in the local city. Daly distance
covered in local city is 60 kms. The scating capacity of the bus is 50 passengers. The
bus is generally occupied 90% of the capacity while it travels from Bangalore to
Shimoga and back 80% of its capacity while it travels from Bangalore to Hassan and
back. It is generally full when it runs within the city. Calculate total passengers in
Kilometers.

Sow Aofay Lo WA Eeo0ch, 9 300 5. LoD oAt ok
assstor} o, Sories Hacid 10 OIRMG Feen LIS, wde o adae 10
D W, 200 8.0 SORDLT ortvath L T B, B2 6F Borh
. oY R 4 DI e TEOY T B @b O 60
&85 T $0BIS. AT 0RO, deodectn e 50w bar,
S Be. 90 o, St TS I, 80 o, TG e ArdY, 100 o
R L, BAIREEO CRUSRy 8.000TVY, Hod @00,

Write the features of process costing.

Tyob B, rradd g LoD,
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SECTION - C
ot - %
(3x14=42)
Answer any THREE of the following questions. Each question carries 14 marks

7. Royal constructions underiook a contract for Rs.75,00,000 on an agreement that §01,
of the value of the work certified should be paid immediately the amounts expended

were:
Particulars 2014 Rs) 2015 (Rs) 2016_(Rs.)
Materials 9,00,000 11,00,000 630,000
Wages 850,000 11,50,000 9.50,000
Carriage 30,000 1,15,000 -
Cartage 5000 10,000 30,000
Sundry Expenses 15,000 20,000 15,000
Work certified 18,75,000 75% of 30 June
contract | Whole contract |
Price was complete
Work certified - 1,00,000

‘Show contract accounts and Contractee’s Accounts.

TOhet SHIES Up. 75.00,000 IR, 80% v, 0 o ancdesoas
#0003 1000 SeoR JdaR. MPFNGS i vdoress.

EEE) 2014(da.)
Lo Ny 9,00,000
%00 8,50,000
morrss 30,000
won wan 5,000
%0 e 15,000
eesondt sox 18,75,000
] i

o3 AR % 103 BB e, JoRORD,
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From the following details, you are required to Calculate the cost of Job No.11 and
Find out the price to give a profit of 25% on sclling price. Materials cost at

Direct Wages

) Department X - 80 labour hours @ Rs. 10/~ hours

AL
b) Department Y - 60 labour hours @ Rs.6/~ hours
o) Department Z - 40 labour hours @ RS- hours 820N

p our hours @ R k%\ 4

Gt

Variable overheads

Department X - Rs.5,000 for 1,000 labour hours
Department Y - Rs.6,000 for 3,000 labour hours
Department Z - Rs.2,000 for 1,000 labour hours
Fixed overheads are estimated Rs.10,000 for 5,000 normal working hours.

2 893 Datcdrivon B8 F0R A0.11 O SR o LAND Wty IRT: BEHY,
25% oot Redbod na $oTT PRy RLAR0.

N gy 603,000

3 dad:

2)  ogen X - 80 €20 rodntd & nowi Ie.10i
b) 2mmRY - 60 €20 o B3 mowR da. 6-
©) SN Z - 40 R0 rodrds I3 rodrt O, S/~
St PR etsHees ey, vdodos:
B Soeeodico :

2t X - 9. 1,000 889 riosiriert d. 5,000
2 Y - de. 3,000 80 rodneR da. 6,000
ooen Z - 9. 1000 €29 rosred da. 2,000
omt 49 ey, : 5,000 ERT, $o3d Hodier e, 10,000

[PTO.
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b)

Obtain the selling price of a job from the following particulars.
Materials used Rs.40,000

Productive wages Rs.25,000

Direct expenses Rs.5.000

60% of productive wages for workers on cost and 12.5% of works cos.
for office on cost. Profit to be realized @15% on the selling price.

503 ARLIOOT 100> BB SURT IR0 LSy, BORLECD.
TS BN : U, 40,000

RIS 829 : o, 25,000

33 Suieo : do. 5,000

ST LWO0LE, 60% Oty o N Y CWREM TFE, 12.5%
srdng s Lo, Shonts deaby 1% ooty oo SEcHUEED

How much of profit, if any would you allow to be transfered to profit and loss
account in the following case ?

Contract value "Rs.10,00.000

Cost of contract till date Rs.4,50,000 N
Cash received Rs4,50,000 (90% of work certified)
Uncertified work Rs.50,000

Retention money s 10 percent.
N AoTrag, eop Sk B, andt o), co Imrs Sndusdens
o> L0,

o3t S ©2.10,00,000

e To3 g, ¢ ©2.4,50,000

= @ 24,5000 (G3es0ns durce, 90%)
GReERCRI 0% : ©2.50,000

o T : 10%
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10. From the following particulars relating to 4 jobs of a manufacturing company as
certain the total cost of cach job and selling price of cach job. Assuming that profit
markup is 25% on selling price,

Job-A. Job-B. Job-C Job-D.
1,600 2,000 2,400 2,800
800 1,000 1200 1,400
160 200 240 280

‘Work overhead is 50% price cost and office overheads is 20% on work cos

% 950 wnT™

oRo8 Lnowed

Rofab 4 TR BRI T

SRooks Segriv FombRCIO.

oSpocid way, g, S 8625 Oy

o R0
ESEacH (0. B(T8.) A(Ga) | B(ea]]
mn e 1,600 2,000 2,400 2,800
2no 800 1,000 1200 1.400
G 160 200 a0 | om

manrd sheen Sfivo THEOE T 3650 I, B $eied e Ty wanrd

gt 3020 o




